CS 240 January 22, 2009 Notes

Binary Search Homework returned

In order for a binary search to work properly, the data must be in order

Arrays

given:  type anArray is array (a..b) of integer;  -- where a and b are integers of your choice

              myArray : anArray;

anArray‘First
gives the first index of the array  
anArray‘Last
gives the last index of the array

An example of this was shown in class, refer to show_attributes.adb

The commented out code is illegal because it is trying to assign an attribute to an integer

Subtype inherits some of the values and all of the operations of the base type

Hello.adb

program shows in class

put_Line is a procedure call and only works with strings and characters

In Item =>     item is the formal parameter name and =>  is called arrow
Hello_Terse.adb
has a use clause which we are not allowed to use

Hello_Error.adb
shows what happens when you don’t use a with or use clause and try to print text

There can be ambiguity with use clauses,  (i.e. the compiler may not be able to decide which procedure you are colling) therefore we  will not use them.
Simple_Addition.adb
do not write code with multiple statements on the same line

;
is a statement terminator

if you call a function that does a computation, you should store the computation in a temporary variable before printing it
once again do not use the “use” clause

Output should be labeled

positional parameter association is not allowed after named ones in a procedure call
Show_Float.adb
Show_Float has the use clause again. . . do not use it

computation is used on line 16 instead of desired temp variable.

Fore  =>

number of place before the decimal point

Base =>


changes the base of the number

aft => 


after the deciamal point

exp


scientific notation

floating point in ada must contain a decimal point and at least one digit

conditional.adb
important lines 11-15

to make ada a short circuit operator use “and then” or “or else” depending on the situation

every “if” must have an “end if” .  
multiconditional.adb
shows the use of the “elseif” statement which only requires a single end if
